
Pos. 7
14605-37
1x

Pos. 8
14605-38
1x

Pos. A1
3,5x19
12x

C

K

K

M N

K-K

C1C5C5C2C3C1 C4C3C2C5C5C1

Pos. B6
2x

Pos. B5
M10
5x

Pos. B4
M10X22
2x

Pos. B3
M10x50
3x

Pos. B2
M8
8x

B
14605-40

Pos. B1
M8x50
8x

Pos. 1
14605-31
2x

Pos. 2
14605-32
1x

Pos. 3
14605-33
2x

Pos. 4
14605-34
2x

Pos. 5
14605-35
2x

Pos. 6
14605-36
1x

C
14605-41

Pos. C5
4x

Pos. C4
M8
2x

Pos. C3
W8
2x

Pos. C2
2x

Pos. C1
M8x70
2x

A
14605-39

5

DocID 20882

Montageanleitung
Assembly Instructions

14613 - Dach für große Kälberbox
14613 - Roof for big calfbox



B6 B2 113 5B2

4

B1

8 7B1

1

4

B1

2

B2B6

B1

1x

B4

B5

90°

          Ø10 mm

A13

B56B3

1

1x

Drill left and right side!

Linke und rechte Seite bohren!

2

3

4

DocID 20882


	Blatt1
	Zeichenansicht5
	Zeichenansicht8
	Zeichenansicht11
	Zeichenansicht14
	Zeichenansicht17
	Zeichenansicht20
	Zeichenansicht21
	Zeichenansicht25
	Zeichenansicht26
	Zeichenansicht28
	Zeichenansicht31
	Zeichenansicht33
	Zeichenansicht35
	Zeichenansicht39
	Zeichenansicht42
	Zeichenansicht44
	Zeichenansicht47
	Zeichenansicht49
	Zeichenansicht54
	Zeichenansicht56
	Detailansicht C (1 : 30)
	Zeichenansicht59
	Zeichenansicht69
	Zeichenansicht72
	Zeichenansicht77
	Schnittansicht K-K
	Detailansicht M (1 : 5)
	Detailansicht N (1 : 5)
	Zeichenansicht82

	Blatt2
	Zeichenansicht60
	Detailansicht D (1 : 10)
	Zeichenansicht65
	Detailansicht F (1 : 4)
	Zeichenansicht67
	Detailansicht G (1 : 5)
	Detailansicht I (2 : 15)
	Zeichenansicht75
	Detailansicht J (2 : 15)


